3 [42]

"_E::__fP S-L')SWQSC 7[\(?(): X X — 12X has EV cJ‘x::z

- = Find o
Fix) = 3<x - 12

SimcCe —F l’las EV a.} XKoo CI-PIGJ F:‘s c,f')[[ af X-=22
= ,ff(z):c::
70(‘2.) 3 (4) — 12 = o
2 =2 —="0
el ="\ ) S =L

ﬁe’maf\ﬁ ﬂ; Conyexse oF 77'| s no/L fr“ue_

This means: if £(c)=o then £ m m:f
have EV

_ : )
é_,_»’(_P F(x)= x has no EV's _ see page. 15

Buf Flo=3x =0 = xz=o €D(f)

o
i %?M(o f(ﬁ) -fi Cju%@f Aa; no EVJ =

Now /71 )3 ;mﬂqu{wf 7Lc> 045) Fhe
cnth pomh . Which one of them does
P have EV? 2 we will use

w0 Fist Dedivalive Test - FDT

(2) SGCCMJ Def\\IoL\Ic SIS

N\
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Th (FPT)
fufpase /’laﬁ Cﬁ){lCﬂ—/ C}M/ df b i a.rlo[
7€ exml,c n an Oﬁen M?leflfa.’ Coﬂ/LaMJj X=c. lhen

D J‘f 70 qumyf’; Sljﬂ Ffom +- fo — aJlX:C.
’A

then f(c) s loc.:u!f{cv{ 4 st e e

@ f‘}: 'f{ C/annﬂef S'ir'jn ff’am — to + 0-7’ NG
im0y o Doe] o F o e

£
ﬂ

—

SN 70 does_viol change sign al_x=tc
H??ﬂf has no EUs. f + 4+,

[

===
G

_T_z‘l -(SDT)- 5ufpaje )CCC) O MJ f IS C@m[ on on
Gf?en M)leUaJ Cﬁ”}‘ﬂ.lmhj &= 1|f1€n

(D ;)C FICC)4 O then ')FCC) S foc:a,} Max
(2) l‘f 'FF(C) D0 then ‘)CCC) S ’,@caj V1IN
3 )C 70(@ -0 then the )le_s?L 7&1

RemarF O TF 70()().-)0 b’xei then
7C IS ConCowe UP on J_ﬁ \-E)
+ =+ +

)c __.......
2 Lf f(x) <o ¥xe T , +henf is concaye aﬂodn on L .
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Y9
Q__QF A Pez'nll u/Ae/e 7F has /nnjedf anc| Change -

concauty is callecl inflechin point.
_(:;;ﬁ ﬂncj f’f’)@ };?;[/66745’11 PO/:*?/J we_ 5}11/}{ u)f‘)-ﬂ_ He Pt:i_fﬂ}-s

u)}')er’e Ff(x) =) ond check them .

E__:_{P Lf’-f ;CX): XL{-— l‘f)(j-r IC;’ .f-::hd the FO”O'-JILg
(© Domajn of £ = p= K :(“"0/“‘0) since £ P"‘U

@ Cr.'n’-l‘Cqﬂ Pc:frzizj =) )Cf(x) -\ XJ_ 12){2 - O

B BTN
cr‘f\ll'ca.j Pafn/; ax'e X=o or XxX=7

(o, fte)) = (o,10)
(3, £(3) = (3,-1%) sive £(3)= 8 ~4(2%)+10 = =17

@Jw)le"wﬁs Wlﬂ&"a -F S fnCt/'erﬁ cma/ Cl’@@@ﬂﬁlvg

§
fis increasing on [3,%) - \ /

—————— o
‘F l '
7Cl‘5 c)tfc{'eadl‘nj on (—- od BJ o 3
SwWWee o = D(‘,F)

[v) ]nILUN'aJS O'F Ccnnca_ufb

” (A
{(X):IZ-X—Z"{X & B e e ] + 4+ -+

IZX'(X-Z) =0 O =
X= OF Y. =59

-F s concove UL On (-no,oj U[-?-a“ﬂ)
.F IS concale down. on Em,z']
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Xm0 O o X o
S\‘Iwcc -? C/L\GMQES CCMCCUV; O-fm-‘VlO( A= ano‘ ) ey ).

+ follows  that the infleclitn poinfs are
(0, £(o) = (0, 10)

(2, f@&) = (2,-6)  sine f(2)=16-4(8)+10z - §

(6) E xtreme Values -

. Nno endpw'm" since D=|R

. Check enhical poinls
K0 = 3

Ussng FDT
(c%(OJ) s nol EV =

(3, £(3)=(3,-13) 15 Abs.Min -5 X
(L.Hin) _,oi
-1 5
—20 1

[Z) Skeich Fx)
@ RMﬂt of 7(()()
R(F)= [-13, =)
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Ep Lt foo=_—X_ wh  flx)- =X
x*+ ) 2 3 (}(Q-HI
fox)= 2(x=3) Find =
(x“+)

@ HSJ "-‘—j ._H /95}9 LM 7[(}() = }Im X - O :>Cj=0 1S Hﬂs;
i X —00 X200 x|
‘M )(\(X):]IM X —0 U
A= =00 A -0 x %
O. ﬁj nore
V. ﬁy rene  sigce X +| £ O
@ C’(':'Jl‘CJ Poi;’}}[; 5
7C; = =) ]-—z)(?- — o = l_;(L:-:::
(x41) (=2 XS0
B (BN |
C.r:,ll'c«d fom}; ale €D(f) & D(f) o—
(1,#n)= (1)=+
(=) = (-1 -2

@ In}LENaJ- af "”C(é;f’j ouncﬂ aﬂecfea.ﬂﬁ

'Ff:o D x= 1) » \/&

-Ffs fr‘ltlfea/ﬂ'vjj on [—-1‘,\_) =) \
f is decreasing on (-%,-JULI,»0)
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asaid
Pencil


D )nJ'e/\fo.! of[ ConCau@ rg_z

f(X)"‘ 2)( gl—n =) 2 X (er?:):‘-—&

(x ‘\’l)?, X=0 or x:\/_f AV X-"-‘-\é—
- 'F s Con(Coue UP on - /-F\ \'F/ K_F\ @
["'\G,OJU[JE,N) ,F “‘“""i+++‘ \+++
- V3 o V3

i 7[\ IS Concare c}&wrt on

("“’0/ ""\[._31\.) [G/\Ej
E ’nf cc.z.!:m ()or'nb_ f—-g_ af x=o0,J3, ——fj

a-nd F chanqﬁ CQVICM Mauﬂﬂ/

| aNe oll of Hem amd all ofe 'n N(E)
576(0)) = (0,0)
e to f)

(-6, £(-13) = 1%4)
@ FX‘)'?’E')MQ Vﬂ—lu% 0 Bnﬂ;ﬂaf:‘?llj‘ =) check Cr'l.ll‘CJ PO;nr(J- ..

f has L Hax of fi)=L atx=1 (Ahs. Max also)
.’C jqag ). H:'n OF -F(—‘) - -é'_-_ aal)(::-l (/9)35 H:h ajja)

gjj'kejrd« Lx) —

@ R('F) = E-%;_L
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